[ normalized x? probability |

9% 2. 4 6 8 10 12 14 16 18 20
2
s DOM_MKFIL_TT_retram-Tow, X
s DQM_1 rrlkFll:TTfNEWdefaulp specPLess1-lowpt

— DQM_mkFit_TT_NEWdefault_specPLess2-lowpt

s DQM_mkFit_TT_NEWdefault_specPLess3-lowpt
s DOM_mkFit_TT_NEWdefault_specPLess4-lowpt

107

I
i
e
0304 .6 0.7 . 1

Prob(xz)

< x2/ndf >

N
Lo L L

\ +n ]

Ratio

< x2/ ndf >
< X2/ ndf >
=
00

1.5

0.5]

3
;:‘ﬁ
g
L e
=
:t—
o
TP P PP T e e P

Ratio
Ratio

2 3 -3 -2 -1
10 plTO 10 10 AR(track, jejts)



	Contents
	Page 1


